
 
 
 
 
 

Examen de Economía Española 
 
 
 

1) Cómo  han  afectado  los  condicionantes  geográficos  al  crecimiento  económico  de 
España, Portugal, Grecia e Italia.  

 
 
 
 
 
 
 

2) Cómo  afecta  en  términos  agregados  la  subcontratación  de  actividades  a  la 
participación del  sector agrícola, industrial y de servicios en el producto?. 

 
 
 
 
 
 
 
 

3) Identifique tres factores que afecten a la productividad de la tierra. 

 
 
 
 
 
 
 
 

4) ¿Cuál  es  la  diferencia  entre  una  política  activa  y  pasiva  en  el  mercado  de  trabajo?. 
Ponga un ejemplo de cada una. 

 
 
 
 



 
Ejercicios 

 
5) Justifique las diferencias existentes entre el PIB per cápita y la productividad y explique 

lo ocurrido entre 2007 y 2009 

 
1) Utilizando la información del cuadro adjunto,  

a. Obtenga  la participación de cada sector en el VAB nominal y real de  la economía 

española en 1995 y 2010. 

b. Calcule  un  índice  de  precios  de  cada  sector  y  del  conjunto  de  la  economía  en 
ambos años. 

c. Analice  en  qué medida  las  variaciones  del  peso  nominal  de  cada  sector  se  han 
debido a la evolución de su participación real o al cambio en los precios relativos. 

VAB a precios básicos de los sectores productivos 

  Precios corrientes  Precios constantes (Base 2000) 
Sectores  1995IV  2010IV  1995IV  2010IV   
Agrario  4.866  6.588  4.918  6.545   
Industria  18.919  31.326  20.576  24.084   
Servicios  69.254  175.931  81.228  128.218   
Total  104.875  245.849  120.299  178.468   

 
          Fuente: INE, Contabilidad Nacional de España. 


